Price

3.1 Draw a line from each word on the left to 2 word on the right to make a word pair. (There is
i murks ong extra word that you don't have to use.) Then use your word pairs to complete the

sentences below,
price price
list cut
up level
bottom end
entry loss

market

1 Our basic range of wennis rackers is priced at the of the market.

2 For example, our racker for beginners is just £20.

3 Last year, the for cur most expensive model was £250.

4 Bur after fast week’s it is now just £200,

5 Lots of people start with one of our cheaper rackers and then move

Choose the best word to fill cach gap from the alternartives given below. Put a circle around the
leter, A, B or C, of the word you choose.

Homestead is 2 new company selling consumer durables at low prices. The company has a
policy of permanently fow (1} . . In fact, they guarantee rhat all branded products will be
ar least 10% less than the recommended (2) ... price. For example, a washing machine
listed ar £380 is on sale at £320. That's a {3} ............ of over 15%. Competitors are angry that

the company is using loss (4) ... 1o atrract customers, A spokesperson for Homesread
admitted that some products were being sold ava {5) .. but argued that this is standard
business practice. “They just don't like the fact that we are (6] ... thern,” he added. §s chis
the start of a price {7} ... P

1 A charging B prcing C trading

2 A retail B sale C cost

3 A charge B profit C discount

4 A dealers B leaders C traders

5 A loser B lost C loss

¢ A undercutting B discounting C overpricing

7 A hike B war C tag

Find the answer to each clue. One or twe letters are given in cach case.
i marks . . . .
1 When prices are rising quickly: a price ...

1 Nor cheap and not expensive
3 Small, specialized market i
4 Goods between basic and sophisticated 3

5 Buy a better model than the one you have . =T I I
‘ ﬁ.ﬂ il

~lz /=212
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Place

Find the word from the list below that best fits each statement, Write the lecter of your chosen
answer nex¢ to the statement, There is one extra word that you don't have to use.

1 We buy farge quantities of wine directly from the producers and sell ro shops and
restaurants.

2 We have a small shop selling newspapers, magazines, sweets and cigarettes.

3 We opened in Chicago in 1952, We sell coffee, sodas and pastries. And, of course,
medicines!

4 1 own the Pizza Express restaurant in our town. | get a lot of help from the parenr
company.

S It is a huge shop and it sells everything — food, clothes, furniture, plants, everything.

& We senr our 200,000 letters to car owners last week promoting our new insurance
service.

7 We phone people between 6 and 8 in the evening trying ro sell them home security
products,

8 Most big towns in England have a shopping centre but the idea came from the US.

A telemarcketing B mall  C discounter D hypermarker  E drugstore
F mailshot G whaolesaler H retailer 1 Franchise

Dreaw a line from each word on the left to a word on the

right to make a word pair. (There is one extra word that g;:m martkettng
you don't have to use.) Then use your word pairs to ep ce_:: re
complere the sentences below, direct calls
rold store
call precinct
discounters

1 Mailshots, telemarketing and doos-to-door selling are all parr of

2 We have abour 150 telesales people in our in Dublin.

3 Ve use to find new cusromers but most people don't like being
approached by companies that they don't know.

4 The bigger supermarkets don’t like because they offer very
low prices.

5 The ‘Body Shop' is a with branches thronghout the UK.

Find the answer to each clue. The frst letter is given in each case.

{ Disapproving term for divect mail: . - mail
2 A shop can also be called a retail ...
3 Disapproving term for wholesalers ?
4 Type of store thar sells a wide range of goods 3

j

¢

m

5 Local shop that's open long howurs: e store | 8
c
(9|

& Wholesalers and retailers are
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Narks

253
marks

Tutal 22

Promotion Torget 197

Complere each sentence by writing in the gap the correct form of the verb given in brackets { ).

1 1 work for a large oo agency.  (advertise)

2 We have placed a full-page display ........ccoowwnr- I E¥Ery national newspaper.  {advertise)
3 Product e is very effective if you use a really big sports stac  {endorse)

4 This year we will spend abour 2 million dollars on oo . (sponsor)

S The .. of our new product range starts next week.  {promaote)

6 The first prize in OUC e is a week's holiday in Spain.  (compete)

Diraw a line from each word on the left to a word on che right to make a word pair. (There is
one extra word thac you don't have o use.) Then use your word pairs to complete the
sentences below,

sales samples
special offer
free product
longalty . territory
| £TOss promotion
card
1 We sent of our new shampoo o 100,000 homes for people to try.
2 When a customer shows her . she gets a 2% discount.
3 We use 50, for example, if you buy our roothpaste you get a
special deal on our reothbroshes.
4 My covers the north of England and Scotland.
5 The on this product range ends on the first of Seprember.

Choose the best word from the brackets { } to All the gap.

1 { think that a TV commercial is the best adverrising .. . (placefmedinm/agency)

2 Our magazine offers readers a free . every month.  {prizefdiscount/gift)

3 We value the men and women of oz .o . {salesmen/salespeoplefsales force)

4 I'm running the advertising .. . for the launch of our new model.
{campaigniendorsementfpromotion)

5 I'm Sally Forbes and I'm <o, miantaget for Iceberg Frozen Foods.
{sellsfsalesiselling)
6 Most of the who use our newspaper are siall, local businesses.

{advertisersfadvertsfadvertising)
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mxay) 'he Internet and e-commerce ggE

Choose the best word to fill each gap from the alternatives given in the box below. There are
some words that you don't have to use.

I'm Justin and 1 run a chain of bookshops specializing in old and race books. Last year we

started an - (1) e operatien, [t been very successful, We have about 4,000 unigue
{2} v and last month our home page had over 15,0000 (3] v . Visitors
use the siee’s search (4) 10 Iook for book titles of authors. They add items ro their
shopping (3) ... weeecanen @0, when they've finished, they pay (8) . nsing a credit
card. We send rhe books out by post so we don’c have any (7] .. srsrsennnns Tl problems like
some companies. Since we started (8) oo | we've had More CUstmers in our
tradiional (%) .. -and-mortar shops. P¢0pic see our site while they are

{18 i, the web and that persuades them to come along.

hits cart  page  engine securely  e-tailing surfing
tsers clicks bricks first last commerce procurement

26.2 In each sentence, there ts one word which is wrosg. Circle the mistake and write the correct
UGS  word ar che end of the line.

1 E-port is the country’s latest [nternet serving provider.
2 I¢ gives free Internet excess to registersd users,
I 3 You can open an accountant by visiting E-port’s website.
4 The first thing o do is to get your user word from the 1SR
5 Then you enter a secret passport $o that only you can log on.
& Now you can explore che World Wild Web ar any time.

IAOEE A Complete the meaning of each abbreviation,
Gkl b} Decide whether each statement is aboue B2C, B2B or B2G. Tick (+) the right box.

B2: busi |16 B2B: business 6 e
B2G: business to ...

1 Members of the public can buy train tickets online. i

p—
2 Last year we paid our business tax directly over the Internet.
I
3 We order all our office stationery from our supplier on the web.
4 All our workshops use e-procurement for the spare parts they need.

S We applied for the contract after seeing the details on the Ministry’s
website,

[ 6 [ order my contact lenses over the Internet and pay with my credit card.

Your score
f25
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Sales and costs et 15

Choose the best word from the brackees { ) to fll che gap.

1 The new maodel will be ... - sale im July. {atfon/m)

2 The shop was having a .. 50 § got these shoes at half price.  {salefsalesfsetl)

3 It's easy o a sale if the product’s good and the price is right. (do/make/give)
4 Last month, ... sales reached nearly 1500.  {unit/piece/mumber)

5 Sales last manth were below our .. . of €120,000. {gross/target/share}

& Staff salaries are included in our {dirsetfindirectioverhead)

7 Our basic mode] has a selling .. {cost/margin/price)

8 We estimate rhar sales oo next ycar will be abour 5%.  {(growth/forecascivolume)

Choose the best word to fill each gap from che alternatives given in the box below.
There are some words that you don't have o use,

Vve just Anished ... the new computer we are launching next year Direct
.. COStS w;ll be $480 I estimare our . 1o be abour $20. That gives
.. costs of $500, We want a . .-up of about 20% so the sale price

will be $600. That P13 O — margm of nearly 17%. Nor bad.”

l forecast production costing total profit mark revenue overheads

Find the answer to each clue. The first and last lesters are given in each case,

1 Selling price minus toral costs: e margin
2 Abbreviartion for the variable costs in makmg goods
! 3 Selling price minus direct costs:

= & ;T
v

4 Number of things sold: sales 3 s
5 Money received from sales ‘ €
& Money received from sales {another ward) L €
7 Another word for indirect costs I r
8 Estimate of next year's sales ¢ c .
H
s f t

Your score
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Profitability and unprofitability

Look at ¢he costs and prices of these lamps. Choose the best word from the brackers { ) ro fill the
gap in each sentence that fellows.

Pruduvtion cas <30 €45 €60
Selling 1 €30 €40 | €120

1 We make a of €15 on lamp A.  (budgetfexpense/proht)

even on sales of lamp B.  {break/makeftake}

3 Wemake a . on lamp C. {loseﬂossﬂost}

4 Lamp D is very popular lt 5 a real .. e eeSPIGNEE.  {CashAinance/money}
5 We are going to stop making lamp C becausc IS JUSE RO ovnsssmemsiine

{profitablefsaleablefvalua ble]

Choose the best word to fill each gap from the alternatives given in the box below.
There are some words that you don't have to use.

‘My name is Ann Morgan and I'm Advertising Manager at Gissing PLC. Last year, I had an
advertising ... - of £1,000,000, Our e on TV adverts was £800,000 and
£400,000 went on placmg display ads in magazines. $o our acrual .. . was
£1,200,000. That means that we . b} £200,000. The Dlrecror [ Fmanoe was not
pleased and 1 have been told that I must not be rrneereennee DU EET 221N NEXE year,

| expenditure EXPENSES budget under  over spend  owverspent | underspent -

Write one word in each gap to complete the sentences.

1 We sell 15,000 of this model a year and make $80 on each one. It's a real _ _ __cow.

2 { overspent because | didn’t budger _ _ _ the repair of the photocopier.

3 We reach break-even __ _ _ _ when we've got ten boyers. Afrer that, everything s profir.

4 We sell this product ar Jess than cost price, Loss
the shop.

5 The big supermarkets benefit from
froom suppliers.

& Since we set up the business two yeats ago we've been on a steep

like thus antrace costomers into

of scale because they get low prices
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Getting paid

Choose the best word from the brackets ) to Bl che gap in each sentence.

1 You have 0 . the fueniture directly from the manufacturer.  {ask/order/require}
2 Your order is now ready and we will . {planefrain/ship)
3 We send the imvoice to the customer’s . {billing/receipringfcosting)

4 We have 3 srict credit s, al] accounts to be paid in 28 days.
{policefpolicy/polirics)
3 1 have a serious cash ..o problem because they haven’t paid me.
(credit/expense/flow)
& You must send your tax form to the .o.ccereoe.. REvenue tomorrow,
{InlandAnside/inhoard}
7 They are never going to pay the £200 they owe me sc ['ve . - it off.
{signedfwritten/postedj
8 Our payment ..o iricee are cash or cheque when the poods are delivered.
{terms/wordsinores}
9 [n the US, ‘3CC0UNLS oo rrmvsseceees * refers t0 customners that owe the company money.

{deductible/payablefreceivable)

In each of the numbered sentences (1~5) there is one word which is wwong. Circle the mistake
and write the correct word at the end of the line.

Our company supplies stationery and office equipment.

1 Customers put their orders by phone or over the Internet.

2 Nearly all orders are displaced within 24 hours,

3 We give business customers rrade debit wich 30 days to pay.

4 Most people pay on time but some stilt own us money after six months,
5 Last year we had bad depchs worth aver £10,000,

the sentence.

1 I look after our large and important aceounts.

2 Pm also responsible for chastng people who owe us morey.  __ ___ _

3 We always pay our suppliers and other people we owe mopey tyon time.  _ ___ __ __ _
4 We give our best customers a 10% reduction in the price they baveropay. ____ ____
5 We don't give credit so our customers have to pay before they receive the goods.

& We rajse an invoice and send it to the customer immediately, _ ___ __ _

For each sentence, find one word to replace the underlined phrase. Write the word ar the end of
i naarks

]
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Assets, liabilities and
the balance sheet

Choose the best word from ihe brackets { ) to fill the gap in each sentence.

RETAIL BUSINESS FOR SALE:
£125,000
1 Newsagent 3 shop for sale az a going ... {businessiconcernfoutlet)
2. - assets include shop, ﬁtrlngs and a4 new | {Permanent/Firm/Fixed)
delwer}» van. [
3 The estimated e value of these assersis | {book/invoice/paper)
£120,000.
4 . assets include stock worth £15,000. 1Current/Present! Actual]
5 The most |mp0rtant e @852 i5 oW good  |] (invisible/invaluablefintangible)
reputarion,
& The wrrcrnisnminns of our customers is included in ] {goodnessigoodwill/goodbye}
the asking price.

Complete each of the numbered sentences {1-5} by writing one word in the gap. The first lecrer
has been giver to help you.

Ower time, the equipment that a company owns {oses value.

Choose the hest word from the brackets { } to fill the gap.

1 Owr ... .. include a €12,000 tax bill and the € 8,000 we owe our suppliers.
{assets/debrorsfiahilities)
20ur are valuable because they have good customer recognition.
{brands/rypesfmakes)
3 Company cars depreciate quickly, We write them . completely after five years.
{upfoutioff)
4 Our ..o Year runs from the Ist of June to the 31st of May.
{Anancialirevenuefcapital)
5 Our only e lizbility 15 a €10,000 bank loan 10 be paid off over fve years,

{eurrentlong-term/fined}

Your seore
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The bottom line Torget | 15

Choose the best word to fill each gap from the alternatives given below. Pur a circle around the
[exter, A, B or C, of the word you choose.

It was announced today that the chemical giant Emronia UK is to be mmvestigared. This follows an
{1} ... wihich revealed problems in the company’s (2] ............ . A company spokesperson said
that annual {3) e, for the past five years had given a (4) ... and fair picture of Emronia’s
financial position. He stressed that the company follows Beitish accounting (5) . Bug

expert commentators are not convinced. Last year, Emronia reported a pre-tax (6}

£29.6 million but many think that this was due ©0 {7} crenr, accounting - or worse. Giles
Merchane, advisor to the Stock Exchange, said that the company was haemorrhaging red
{8) but had hidden the size of irs Habilities.

1 A amortization B accountancy C audit

2 A accounes B assers C credits

3 A books B records C reports

4 A false B good C mue

5 A results B rules C firms

6 A profit B budget C line

7 A window B creative C direct

8 A blood B ink C

Match each word in Box A with one word from Box B to make five word pairs. (There i
one word in Box B that you don’t have to use.) Then use your word pairs to complete che
sentences below.

RSN window  accounting bottom  exceptional hook
Bux B T4 standards account  keeper loss dressing

1 The shown in our years accounts was due to the purchase of a
new shop.

2 The used in the US are different from those in Europe.

3 At the moment, Frin a but 'm training to be an accountant.

4 There was no escaping the ; a net loss of €35,000,

5 After a little bit of , our figures for this year look a lot berter.

n each sencence, there is one word which is uromg. Circle the mistake and write the correct
word ar the end of the line.

1 My name is Jane Morton and 1 am an accountancy in London.

2 1 prepare the end-of-year accounting for several small businesses.

3 They send me their records and [ draw up a profit and lost account.

4 This shows the growth profit and any charges agamse the company.

5 When these are taken away, you are left with your nerting profit for the year.
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Share capital and debt

Choose the best word to fill each gap from the alternatives given below. Put a circle around the
letter, A, B or C, of the word you choose.

When [ started my engineering company five years ago 1 had to (1) wrenes a lot of capiral. First,
1 kooked arcund for a (2} e and took out a loan. The (3) s was £100,000 at an

(4} e bt oF 3.2%. 1 had to use my house for (5 ... 5o that was a big worry. Next {
found ten people wha wanted to© {6} .............. in the business. Each one put {7) s £10,000
in rerurm for 1,000 shares, I (3) 12,000 shares so 1 am the biggest shareholder. Our rotal
L) — is nearly a quarter of a million pounds. We paid our first {10) . last year but it

wasn't very big. Now we are making a profit, we will start to reduce our (11 .. I don't
like carrying this much (12} .., .

1 A rise B raise C rose 7 A out B up C off

2 A lender B borrower  C capitalist § A hold B pick C hand

3 A money B balance C poncipal 9 A pearing B venture € equity

4 A account B interese C audic 10 A divisien B divider C dividend
5 A security B osafety C salary 11 A borrowing B lending C sharmg
& A lend B borrow C invest 12 A capital B debr C collateral

Decide which of the alternatives (A-H) each speaker is calking about, Write the letter of your
answer iy the box at the end of the seatence. There are some alternatives that you don't have
to use.

1 “We had to find a lender who was prepared 1o finance an exciting new company.’

2 ‘Qur lending to companies takes the form of conditional loans or debentures.’

3 “If you do nor keep up with the repayments, we may sell your home to recover our
)
money.

4 ‘The company is highly geared so | wouldn't invest in it.”

5 “We owe our suppliers $12,000 and we have a loan of $8,000 so the ratal is about
£20,000.

A indebtedness B equity  C sharecapital D bonds
E leverage F grossprofit G wventure capitalist  H collateral

Complete each sencence by writing in the gap a noun formed from the verb given in brackers { ).
The first one is an example,

0 We charge each ... booser 2 fee of £200 1o arrange a loan,  (borrow)
1 This year we will pay a .. of 25¢ per share.  (divide}

2 To get the lozn we had to use lhe new lorry as . e - |SECTTE)
3 W are looking for a . who ofHers reasonable interest rates.  [lend)
4 Their debts have grown sreadlly and now their e is dangerously high. {gear)

5 Tehank thar our oo s mow under control.  {borrow)
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Success and failure

Choose the best word to filf each gap from che alternatives given in the box below.
There are some words that you den'’t have to use.

Bad news for sharcholders of Batloni PLC, Jacky Lai, the CEQ appointed last year, has failed o
{154 R the ailing company and last month it defaulted .. its huge

$1.2 million debe. There is no hope of finding anyone to bail - Barloni 5o it will be
PUL s PECEVEEShP RENT Week. When the company is wound ...
shareholders will get almost nothing.

up before out inte at round  from on

Choose the best word to fill each gap from the alternatives given below. Put a circie around the
letter, A, B or C, of the word you choose.

Alicom is a successful company. For the past ven years it has (1} ... part of its profits as
dividends. However, its (2) ... earnings have been considerable. 1s cash (3} ..., are now
estimated to be around €20 million. Financial experts say that Alicom has only a small debr to
[ E— and so may use its cash {§) v to buy out one of its rivals, CEQ, Angela White,
said that the company has no immediate plans tc make an (4} ... , but that it couldn’t be
ruled out in the future,

1 A posted B distribured C retailed

2 A retained B stored C kept

3 A shares B bueden C resetves

4 A fle B default C service

5 A stock B mountain C hill

6 A acguisition B administrarion C application

In each line there is ore word which is wrong. Circle the mistake and write the correct word at
the end of the line,

1 We need time to reorganize our finances so we're Aling for bankruptness.
2 Thar should protect us from our credits for at Jeast six months.

3 The truth is we have a debt cries which has been building up for years.

4 Yesterday we asked the bank to schedule cur debt over ten years.

5 1f they don't agree, then the company will collide imtmediately.

& We will have to cease traiding and make all our staff redundant.

7 I the bank says ves, then 1 think that we can make a full recover.

Your score
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Mergers, takeovers
and sell-offs

34.k1 Choose the best word from the brackets { } to Gl the gap in each sentence.
ERUBTH

1 1 have a 209 o T @ small printing company.  (invest/interest/input)
2 Charles Wilson now has 2 majoriey ... eorerereee in Alicom PLC.  (hold/holderholding)
3 ProSporis and Fit Folk gave details of their new joinr ... .
[venturefaccount/icombine)
4 Kota-Co has made a e bid of 21p per share.  (kind/friendly/gentle}
3 Buying out the contracts of senior executives will be a poison . . for any predator
to swallow. {medicine/tablec/pill)

6 Eastern Warer proved to be our white .o, saving us from collapse.
{angelknightfsaint)
7 Their .ooieceiecsecenn, CORRPaNY is 2 mnitinational based in New York. {parent/fatherffamily)
8 We started as a music con1pany but We ... into television.
[diversified/divertedidiffered)
9 We do many things bor our e activiry is publishing. (concernfcentreicore)

In each of the numbered sentences {1-5) there is onte word which is wrong, Circle the mistake
and write the correct word at the end of the line.

Qur manufacturing company is small but ir has lots of assers.
1 We are worried that we may be pray to a big multinational.
2 Last year, Anders Holdings made a hoscage bid for us.
3 They wanted to ackquier us as their subsidiary in Europe.
4 We didn’t want to be part of a huge conglomerus so we rejected the bid.
5 We are now considerimg a murger with another small engineering firm.

RS For cach sentence, find one word 1o replace the uaderlined phrase. Write the word ac the end of
B marks the sentence. The first two letters have been given to help you.

1 The problem is that the company is not concentrating on a few important things.

Your scare
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